Mathematics 280 Sec 7.1, Integration by Parts
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Why does u-substitution not help us with this integral?

Notice the integrand is a product of two functions. Thus integration by parts may be appropriate. 
The 
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 part will disappear after a few derivatives while the 
[image: image3.wmf]cos

x

part is easily differentiable AND easily integrable. Thus, we let 
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Using the formula we obtain
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Now since the integrand in the remaining integral is also a product of two functions, we employ the technique of integration by parts again.
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Substituting into (1) we obtain
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Try these:
a. 
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                b. 
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                 d. 

 

We normally choose the easily integrable part to be � EMBED Equation.DSMT4  ���and/or the part that will “disappear” after a few derivatives to be� EMBED Equation.DSMT4  ���.
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Students seem to find it useful to use the ordering LIATE for choosing� EMBED Equation.DSMT4  ���.





  L= log functions


  I = Inverse Trig functions


 A = Algebraic functions


 T = Trig functions


 E = exponential functions.





This rule is not perfect.
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